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Answer Any Five Full Questions

1 Write a short note on RS codes and GOLAY codes.
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2 Write a note on Shortened cyclic codes and Burst error correcting codes. 10 : CO
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3 For the (7,4) cyclic codes, g(x) =1+x+x> and D(x) = do+ dix+ 10  CO L3 |
d,x? + d3x3. Find all the 16 code vectors in Systematic and Non systematic L5 '
form. '
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4 Design an encoder for (7,4) binary cyclic code generated by g(x) = 1+x+ 10
x3 and verify its operation using the message vector (1001) and (1011).
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5 Consider a (3,1,2) convolution code with g = (110),g® = (101) and
g® = (111). Draw the Encoding Circuit and obtain the Generator Matrix
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6 Consider a (3,1,2) convolution code with g = (110),g® = (101) and 10
g® = (111). Find the code-word corresponding to the information sequence .5
(11101) in Time Domain approach and Transform Domain approach i
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7 Consider the binary convolution encoder shown in Fig. 7. Draw the state table, 10 ' CO | L4 !
state transition table, state diagram and corresponding code tree. Using the L5
code tree find the encoded sequence for (10111).
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Fig. 7. (2, 1, 2) Convolution encoder.
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